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2024 111 181100~ N 640 — SCIENCE AND TECHNOLOGY (72) - PART T (E)

(REVISED COURSE)

Time : 2 Hours (Pages 12)  Max. Marks : 40

Note :— (i)  All questions. are compulsory.
(if) Use of a calculator is not allowed.
(i) The numbers to the right of the questions indicz;te full
marks. -
‘(iv') In case of MCQs [Q. NO', I(A)]’ only the first ‘attempt :
will be evaluated and will be given c?edit.

(v) Scientifically correct, labeled diagrams should be drawn

wherever necessary.
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(AN Write the correct altornntive !
o) The ST unit of heat I8 ... pesessanisesiavsinaisesnidee
(A Calorie
" (B) Joule

é

(C)  Kealkg °C

D % O I

(D) Calg °C

(ii) We can see the sun even when it is little below the hoﬁzon
DECAUBE S0F w.ovuseractonsassinnssssssssnanis ey PR
3 o

(A) Reflection of light
/H) Refraction of light
(C) Dispersion of light

(D)  Absorption of light
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7 ;o £ 7 4 /¢
.................... is the functional grovp of it s it 5itifs.

L/_(-A’) —COOH

(B) —CO—
(C) —CHO— |
D) —OH
(iv) i simple mjcrbscope cereestissrmsiisiesinnn. lens is used.

\

(A)  Concave
- (B) - Pl'ano concave

(C) Pl‘ano’ convex

L(D{) Convex

PT.O. 4
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) ‘ In ... fyiionsnios process a layer of molten tin is d :
metals,
(A)  Anodization
87 Tinning
©) Galvanizing
(D)  Alloying
@ (B) Answer the following : 5
@ ()  Write thé name of the atom ha%ri_ng the sma]lestmze
/(Zfe) erfte the molecular formula of calc1um carbonate
oo » C
@) Wnte the use of Calonmeter
R AR s
() Identify the hydrocarbon from the given electrop-dt
' @ - structure : |
Calé"'w e -3 P o
[@ﬂ H:C:C:H
H H
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) Mateh the Colnnng ¢
Column ‘A Column ‘Iy
Rofractive index () 1.31 .
of watoer by 1.36
() 1.33
’-/;:.’—.-o—""‘—
Give scientific reasons (any (wo) : ' 4
@) When the gas formed on heating limestone, is passed through

-~
-y

)

(iix)

time, : Y |

. ) ‘.\k .
freshly prepared lime water, the lime water turns milky.

Tungsten metal is used to make a solenoid type coil in an

electric bulb.

On exposure to air, silver articles turn blackish after som
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%
(B)_ Answer the following (any threo)
\\- ‘ { y ' Al o = i {4‘
\\*,M') Stato Dohoroinar's Inw of brind, Glve one sratige A ¥
D) Identify tho figure und oxplain s v
<
Ly
(iii) What is meant by satellite launch vehicle ? Name zny o

¢

Indian satellite launch vehicle.

71)»»/ What is free fall ? When is it possible ?
\)/WS The focal length of a convex lens is 20 em. What = ==

power ?



7/N 640 )

Answer the following (any five) ( / 15

~

5

Select the approprinte options and complete the following

paragraph :

(Metals, non-metals, metalloids, four, seven, ei;bl“qf:k, p-hlpck, d-block,

p—

f-block).

~

On the basis of electronic configuration, elements in the modern
periodic table are classiﬁed into‘ &‘h‘ ..... blocks. Groups 1 and

2 elements are 1ncluded in S"bl‘x/l‘ and all these elements are

metals. (eicc‘ept Hydrogen). Group 13 to 18 elements are included in

'P"\’\hw ..... . This block cohtains "metals non-metals and metalloids
Group 3 to 12 elements - are 1nc1uded in 687 ............... .. and all thev—-

elements, are ..‘.."....". ......

i
!

....... elements shown at the bottom of the
| | J , ¥ oL‘
periodic table ie. Lanthanides and Actinides constitute .....

and all these elements are metals.

{




AR ,
: g POY
@ @) What nre the factors nffecting the f
.

reaciion

" ) Explain any one factor.

W ¢ o (g questions.
i) Observe the following graph and answer the follo¥! g

i
L

Boiling water + Vapour

D

Liquid - Gaseous state

304
20

: 104
4 A
| (0.0) / T} ¢ B 1012 1416 18 20 12 24 26 78 30 32 34
Time (Minutes) ———>
Ice+ Water
. (Solid+liquid)

(a) Whét does the graph represent ‘7

() What does the line AB represent ?

-

(¢)  What does the line BC represent ?
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Gv) Complote the following table by obscrving .the given figures
A
. Figure
i AAn |
=) =
Points
J
(@ = Name of the /”&o\fﬁ\ymkd Mj)l 'chg ,yh«kd nesy
‘ '."”*‘jPezmhvpi«
defect = ¢ i - siisenitessesinen B i e ssmsdanensnens
' \ v‘ ehinel Yhe,
()  Position of N TR el \
RLRITAN Ve
othe Image .o f| st o 5, |1 ioriassasiinsssesguiios
. Conve .
(¢) + Lens used to ,CO‘ACO\W* '2%4 x s
adF e aof  afP¥arsule
N ) P‘JEV’J)G]«)& |
correct ‘the f POWQT‘
| ' P-weﬁ)

defect

-----------------------------
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@) Observo the fure and anewer tho quontiont
F I
A
B d AP
*; (@  State Newton's . univorsal lnw of gravitation:
{ " .
, : ‘ . ad, how Will the
: - () If the distance betweon the two bodics is tripled,
% ‘ gravitatiohiil force between them chango ?

(¢)  What will happen to gravitational lorce, if mass of one of the

ohject:is donbled ?
i) The orbit of a satellite is exactly 35780 km above the carth’s

surface and its tangential velocity is 3.08 km/s.

D

How much time the satellite will take to compléte one revolution

0F Vi ey
\e

| |7
around the earth'?.

(Radius - of earth = 6400 km.)

(viii) What is a solenoid ? Draw a neat diagram ang name its various

components.

N
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Answer the following questions (any one) !

{c)

(d)

(e)

Obertve the given dingram and anewer the queations !

Name the process shown in the figure.

Name the colour that deviates the most.

Nzme the colour that deviates the least.
Name any one phenomenon in the nature which is based on

the above process.

Define ‘spectrum’.

P.T.O.i
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(@) Observe the dingiram pivon holow nnd nnawe
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- tho questions

Thistle manel E

(a)

%)

(c)

d)"

(e)

Gas delivery tube
Small test tube

Big
test tube

i Freshly pr ared
acid m}:: [w)valp
Sodium curbonate

Name the reactants in this reaction.

Which gés comes out as effervescence in the bigggr test
tube ? |

What is thécologr change in the lime ‘wa.lte_r‘ ?

In the above"eicpefiment instead 'df sodiumk carbonate which

chemical can be used to get same products ?

Write the use of acetic. acid. ‘ B e s



